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Note : Answer the questions from both Sections as

directed.

Section—A

Note : Answer any two questions from this Section.

1. (a)

(b)

2x20=40
What do you understand by error term in
regression model ?
What do you mean by estimation ?
Describe the least squares method of

estimation.

Show that the estimates [31 =1.572 and

A

By = 1.357 used in the experiment of the
following data are in fact the OLS

estimators :

P.T.O.



(b)

(a)

(b)

(a)

(b)
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Experimental Data Table

Yi Xi
4 1
5 4
7 5

12 6

Consider the following formulations of the
two-variable PRF :

Y, =By +BX

1

Y, = oy + 0y(X; = X) + 1 ...(2)
Find the estimators B; and ;. Are they
identical ? Are their variances identical ?

Describe any five assumptions of classical

linear regression model.

Explain and illustrate Gauss-Markov

theorem.

Given the two-variable model :
Y, =B +BX; +y

Test the hypothesis that there is no

relationship  between the  variables
X and Y.

Describe the concept of confidence interval.
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Section—B

Note : Answer any five questions from this Section.

10.

5x12=60

Explain and illustrate the coefficient of
determination (RZ%). State the situations, when

R2=0and R2=1.

What do you mean by autocorrelation ? Explain
how to detect and correct autocorrelation

problem.

What do you mean by Chow test ? Explain its

use with suitable example.

Explain the wuse of instrumental variables

method in regression analysis.

What is a dummy variable ? Explain its use in

regression model.

(a) What are the reasons for hypothesizing

lags in econometric models ?

(b) Define a distributed lag model.

P.T.O.



11.

12.
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Explain and illustrate Logit model. Examine
the process of hypothesis testing in case of

Logit model.

Write short notes on any t{wo of the
following terms :

(a) Endogenous variables

(b) Structural equations

(c) Simultaneity bias

(d) Recursive system
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P.T.O.
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Yl = Bl + Ble + ul .............. (1)
Yi =, + aZ(Xi — )_() Uy (2)
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4. (31) fg=R dfeet 3@ wahR f&an €
Y, = By + BoX, + 1
qfeheuT 1 Them HIST R X SR Y
= o ¢ T T R
(9) fovaadiaar siaual &l STIYURon 19U

Hifs|

{9

e : 39 9§ fm=dl urer ugHl ki g HifeQ|
5x12=60

5. fauftor qoniss (R2) o1 99T iR o9 wifsm)
oe Tefaal sy o R2 = 0 3R R2 =1 @

6. TEEGERY 9 YR ¥ MAU™ § 7 gHSSU

ff gy & THE F1 S Udl R ST
3R TW »Y IF TR Sy

7. 93 OO 9 oMU ¥ Ay @ ? 3Ifud
STELN & 91 39T YA THE|

8. Hfama favewor o weMyg =) fafy & 3w
F TR HIfY

P.T.O.
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9. MU W (TH W) N T ? WaTHA Hed H
TH JAM I HHIAE
10. (31) eificft dAfed o wwad ol RReT
FH F T R L ?
(9) dfed w=ar dfed w1 gRefia wifsT)

11. @ifie Afed 1 HHeET oK IR0 H1 Gl
U TR gifgul difle Aled & feafa o
Reheu T TO&r i Gishan i S SIS

12. frefafed o § 9 fodl & W e feoafort
fafe .
(31) Hqasiia =R
(9) HTEARHS HHR
(9) Fmaa fsfd
(%) et qoredt
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